Graphs of Absolute Value
Functions

f(x) Ereflection in the x axis) _ _
reflect the part of f(x) where f(x)<O in the x axis)

oy =|f(
oy =f(|X symmetry in the y axis
Y <‘ D %Re/flect thye part o¥ f(x) \)/vhere x>0 In the y axis)

oly|=f(x) Esymmetry in the x axis) _ _
reflect the part of f(x) where f(x)>0 in the x axis)

oly|=f try in th d
Y (‘XD é?gfrlnergte tlr% Ipnarteoi‘(1‘(r:(1>r<]) i% ?r)](ee SfSt guadrant into all four

quadrants)

oy = ‘ f (\x\)‘ gsymmetry In the y axis and reflection in the x axis)
reflect the part of f(x) where x>0 in the y axis,

then reflect result in the y axis)

oly|= ‘ f (x)‘ gsymmetry in the x axis and reflection in the x axis)
reflect the part of f(x) where f(x)<O in the x axis,

then reflect result in the x axis)















y = f(x) ‘_ y|= £ (|x])




y=|f([x)







Graphs of the Form y =/ f(x)

The graph of y = ./ f(x) can be sketched by first drawing y = f(x)
and noticing;

o ./ f(x)isonly definedif f(x)>0
e ./f(x)>0forall xin the domain

o /f(x)<f(x)if f(x)>1i.e. new curveisbelow old curve

o /T(x)>f(x)if f(x)<1li.e new curve isabove old curve

e stationary points must still be stationary points

e X Intercepts require close inspection
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o <1 curve is concave down in 15t quadrant (vertical tangent)
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o >1 curve iIs concave up in 15t quadrant (horizontal tangent)



f(x) Graph of y = f(x) Graph of y= [f(x) Shape of y? = f(x)
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Exercise 5E:
2ac, 4ac, 6,7, 8,9, 10, 11b,
12,13, 14






